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QUESTION 1

Which technology , implemented on aggregation -edge nodes at the aggregation layer, provides per -tenant isolation at
Layer 3, with separate dedicated per-tenant routing and forwarding tables on the inside interfaces of firewall contexts?

A.VDC

B. VLAN
C. VXLAN
D. VRF-lite

Correct Answer: D

QUESTION 2

Which two conditions are required for successful route aggregation? (Choose two) A. Contiguous prefix allocation
B. Logical separation between zones or layers within networks

C. Matching traffic aggregation with route aggregation locations

D. Consistent prefix allocations per network

E. Physical separation between zones or layers within networks

Correct Answer: BD

QUESTION 3

What is a correct design consideration of IPv6 MLD snooping?

A. MLD snooping conserves bandwidth on switches.

B. MLD snooping is used to filter all MLD queries.

C. MLD snooping requires IGMP snooping to be implemented.

D. MLD snooping conserves CPU by sharing IPv4 and IPv6 multicast topology.

Correct Answer: A

QUESTION 4

Which two options must be part of your network design to support dynamic mutual redistribution between multiple
OSPFv2 and IS-IS boundaries, to avoid suboptimal routing? (Choose two)
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A. Matching OSPF external routes
B. Route aggregation

C. Route tagging

D. Route filtering

E. Disabling IS-1S wide metrics

Correct Answer: CD

QUESTION 5

A Mobile Service Provider would like to design and deploy an Ethernet service which has similar physical link
failover/failback characteristics on the active/backup links as the APS/MSP SONET properties. Which Layer 2 service
addresses should be considered to address this design feature?

A. Port-Channel

B. MLPPP

C. Flex Link

D. Ethernet Pseudowire

Correct Answer: C
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